Physics A Problems
Equilibrium Forces / Torque

Include a labeled sketch for each situation!
1.  A bar with length of 6.0 meters has a weight of 3.5 x 105 N.  The bars center of gravity is at its geometric center.  Calculate the amount of force required to lift one end of the bar.

2.  A plank 3.00 meters long rests on ladders at each end.  The weight of the plank is 223 N.  The center of gravity of the plank is at its geometric center.  A painter with weight of 875 N stands 1.00 meter from one end of the plank.  Calculate the force exerted on each ladder.
3.  Sketch a plank with a total length of 10.0 meters.  Label the left end of the plank A and the right end of the plank B.  Place a 495 N rock 2.00 meters from end A.  A 395 N rock rests 9.00 meters from end A.  If the pivot point is placed at the center of gravity, which way would the plank rotate?  Where would an 1800.0 N rock have to be placed so that the platform would not rotate?
